CBo/Had pe3yJbTaTOB aHAJIU3a aTtMochepHoro sozayxa 3a 3 ksapraju 2016 roga

HaumenoBanue onpeaejisieMoro KOMIOHEHTA
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mr/m3 | mr/m3 | mr/m | mr/m | mr/m3 | Mmr/m3| mr/m3 mr/m® | mr/m3 | mr/m® | mr/m | mr/m3 | mr/m2| mrr/m3 | mr/m® | mr/m3
T-1 <0,02 0,2 <0,003 | 0,008 | <0,04 | 0,5 1,40 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2
T-2 <0,02 0,2 <0,003 | 0,008 | <0,04 [ 0,5 2,46 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2
T-3 <0,02 0,2 <0,003 | 0,008 | <0,04 | 0,5 1,57 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2
T-4 <0,02 0,2 <0,003 | 0,008 | <0,04 [ 0,5 2,74 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2
T-5 <0,02 0,2 <0,003 | 0,008 | <0,04 | 0,5 4,66 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2
T-6 <0,02 0,2 <0,003 | 0,008 | <0,04 [ 0,5 3,13 50 60 <1,0 <0,2 0,3 <0,2 0,6 <0,2 0,2




	3 кв.

